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3rd Semester Examination

PHILOSOPHY (General)
Paper - DSC 1C-T
Logic
Full Marks : 60 Time : 2 Hours
The figures in the murgin indicate full marks.
Candidates are required (o give their answers
in their own words as far as practicable,
Answer all questions
Group-A
1. Answer any ten questions : 2x10=20
(a) What is a proposition ?

(b) What is obversion ? Give example.

(¢) What do you understand by validity of an

argument ?
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(2)

(d) What is immediate inference ?
{e¢) What do you mean by exclusive sense of ‘or’ 7
(f) Can ‘A’ proposition be converted simply ?

(g) Give an example of a self contradictory statement

form.
(h) What is a Hypothetical proposition ?

(1) What is the main difference between categorical

and conditional proposition ?
(1) Is Contraposition of "E’ proposition valid ?
(k) Give an example of Mediate inference.

() Why is not conversion of ‘O’ proposition
possible ?

(m) Give an example of a Hypothetical syliogism.

(n) Express the following by means of Venn diagram.
No car is safe.

{0) If p is false then what will be the truth value of

P-q.
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(3)

Group-B

Answer any four questions : 5x4=20

(a) How many types of categorical proposition are
there following the combined principles of
quality and quantity and what are they 7 Give
example.

(b) Explain the distribution of term of (A), (E), (1),
and (O) propositions.

(¢) Use Venn diagram to test the validity of the
following :
LEALE in First Figure.

(d) State and explain any three rules for the validity
of categorical syllogism.

(e) Write the conversion of the obversion of the
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following propositions (any {wo) :
(1) The Cavakas arc materialists.
(i) Students were present.

(iii) Cranes are not mammals.
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( 4)
{iv) All flowers arc not fragrant.

(1) Test the validity of the following with the help

ol truth table method 24Ax2=3
Mpo>q/. . p2(pyg)
)y pogd i=~go=~p

Group-C

)

Answer any 2 questions : 10x2=20
(a) Hlustrate the Seven steps that constitute the

scientific method.

{b) How many kinds of oppositions of propositions

are there 7 Discuss.

(c) Test the wvalidity of the following syilogistic

forms by means of Venn diagram. (any nro)
(i) IAO-3
(i) AAA-]
(iii) AAA-3
(iv) OAI-1
(@) Test the validity of the following arguments (any
Hio)

(1) All men are liable 1o error : Saints being

men are liable to error.
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(3 )
(i) All that elitters are not gold. This tinsel
glitters ; therefore, this tinsel is not

gold.

(ifi) None but good are really to be envied. All
truly wise men are good ; therefore. all

truly wise men are to he envied.
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(i) IAO-3
(i) AAA-I
(i) AAA-3

(iv) OAL]
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